MATH 150A NAME KEY
SCHILLING

TEST #2 (100 PTS.)
(SHOW ALL WORK)

1. A chemical reaction produces chlorine gas as a byproduct. The total output of chlorine gas
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(in grams) in the first ¢ minutes is given by the function f(¥) =10-10 . Write a clear

and natural sentence that interprets the expression f'(30) = 0.15.
0) 2. Find the derivative of each of the following functions. Simplify your answers where
appropriate:
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(e) z = arctan(e”)
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(/5 ) 3. Use differentiation to determine where in the interval [0, 27] the function fx)=4x + 3 cosx
is concave up.
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([S ) 4. A skydiver is falling through the air at a rate of 321 ft/sec, ¢ seconds after jumping out of an
airplane. Suppose that the ground area that the skydiver can view through her goggles at any

given moment is 4 = 20y + 100 ft*, where y is her elevation in ft. How fast is this visible area
changing 20 seconds after the skydiver leaves the plane?
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